Solution Solving Session Eight


Problem 1:

Assuming that 
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, we have from Faraday’s (poit) law:
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where all derivatives are evaluated at y = 0. the x-equation is satisfied by choosing 
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. Then the y-equation gives:
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Problem 2:
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Problem 3:

Let the field (in phasor form) be 
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that, by division,
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 Problem 4:
Since 
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For the two currents to be equal, 

[image: image13.wmf]e

p

we

s

f

2

=

=

  or    
[image: image14.wmf](

)

60

36

/

10

3

2

10

2

9

2

=

´

´

=

=

-

-

p

p

pe

s

f

 MHz
Problem 5:
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or by integration
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Under the consistency condition 
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, our solution becomes
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Problem 6:
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with 
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 suppressed, and Re (or real part of ) implied. To avoid confusion, we shall often write the phasor representation of a sinusoidal vector 
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Problem 7:
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Problem 8:
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Problem 9:
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